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Figure 1.14 Direction field for 3% =1- %
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# Problem 11 (2

varl z.¥') »

df=plot_slope_field(-x/y. (x,-6.,6), (y ~6.6))

PA:deselve‘rk4(~x/y’y,ics={0;4],ivar=x:output=lplat',6nd“points=i-4;4}:\
thickness=3)

PB=desolve_rk4{(-x/y.y ics=[0.1],ivar=x, output='plot ,end_points={-1 1]\
thickness=3) :

PC=desolve_rk4(-x/y. ¥y icsmio,-l}:ivar:x,outputm'plet-,end_pointSﬁlvi:llt\
thickness=3)

¢

show (df +PA+PB+PC) Solu/ fo)= 4
(x:y) /////ﬁ (7
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# Problem 17

var{ x. y‘)

df=plot_slope_field(3 -~ y +1/x (x,0,8)., (y,-8.8))

PA=desolve_rk4(3 - y + 1/x y ics=[1,1] ivar=x, output= plot ,end_points)
={0.8], thickness=3)

PB=desolve_rk4(3 - y + 1/x y ics=[1,6] ivar=x, output= plot ,end_points)
=[0.8], thickness=3)

show (df+PA+PB)
(x, y)
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